Bt HFBAYE RN U0FER ¥ 18P leasx EH ¥ 183 BFaEd

#F 1-1-1-4 LA o BB

O+*#%¥% ( )F
—~BEEE4 7 FH£4059)
(1. THIW—(EBEE Ay - HEREA? (A)250 (B)[315| (C)—412 (D)— | —436 | -
()2 THNEEFHVERLESR - U—{E I ?
(A): —2+3=5
(B):(—4) + (—6) =10
(C):—9— (—-3) =—12
(D): —3-4=-7-
( B wHRlal=9>|—-b] —5 Al —a| + | b | ZEETYIEE? (A)14 (B)—14 (C)4 (D)—4-

(4 FEERE - & %ﬂE/J\ﬁAw EEE—HE %@ ? (A)19 (B)20 (C)38 (D)39-

(5. FIFgESaHE - xﬁ{iﬁi/\ﬁﬂ{iﬂﬁ%ﬁ/\ IR T H& A0 o TERE A 60 2
(F) (5x3) x2= (2x3) x5: () Tx (2+3) = (7x2) +3: () (3—2) x4=3x4—2x4 ;
(T) (10—8) —3=10— (8—3); (/) (9—5) x3=9x3+5x3 o
(ADHZR (B)HRA (CHRT (D)4HRAK-
(6. EFHE=5.8x10" - HIFFE A48 ? (A)7 (B)8 (C)9 (D)10
(Y. 3% 2°=64-b"=243 > H|a" =2 (A)9 (B)25 (C)216 (D)243-
(8. #x=0.321x10° > y=2.13x10* » z=12.3x10° > Hx ~ y ~ z ZEHIA/ NI A BA 2 (A)x>y>z
(B)z>y>x (C)H)x>z>y (D)y>x>z-
(). BEEEFETREREE S ax10"  Ha RE[gE= THIES 2 (A)09 (B)1 (C>3141592 (D)9.99 -
()10, EAFHEETNE(—)  EFE g h2-3 -4 =8 FENLE2-35 -1 HE3X4
FEEEE (—1) x12=-12; Al ﬁ%“l( )Eiﬁil“% NEIaf S TEHE ?

3-8 a

\/\/ NN

-112 b —40
N A4
-12 ¢

f&l (—) & ()
(A)a=—5 (B)b=—11 (C)a—c=445 (D)axb=-—55

“HEREEH 45y 0 48 4))
1. SFETHIERIE
(1) (—256) +478-+256= o
(2)17-8] — (=2) + (5— 9) =
(3) (—125) x1.3x8=
(4) (—147) ><62+ (—147) x38=
(5) (=52 —ax7®— (—3%) 29=
2. Bigp BA A~ BENEL  H A BRRYAAE S —6 EAB 9.5 3K B By ALfE = o (B AL
3. 1 8.3x10~° (LRt NI T = =
4, PRERN EEREFER R A AE o W - afFE L bR -2 cf(FR 3 d AT -4 {REEHIE -
TS B D T A S —(E 8 9140 < cold =3x15x ( —12)x( —4) =2160 > FIl nice Fr{SI% A
5. SE AR aﬁl‘é%%T?ﬁlJ%é?éi
(1) 0.00538=
(2) 3= .
6. R LA A (a)- B(b) C (c) =% C41AB =10 C & AB (Y-St » H a M8 —8 » B IEHEBL/AE
EIJa b—c=
P <0 Z;%DO’E\EE';%H =3°, |z | =2° AUEE - 28— .
(FHEEEZK » DX FFRAGTT)

EFHEAEE - @8557])



= stEmEEEe s 124 3 ATEIBELR FETS

1. (BT 6 (EiE 3 H0A 15 6 B> Horf 1 BER 4 BERET ) > HATBSEHI R B A - /B8 NS BB T =20
LYTELT BRI BRI — 3 £ B BRI R B 2 5 o A0S NER IR 2 - 4~ 40 NI

AUEESEUE 135 Al -
(DNERIR RS 7 (3 97)

(2)/ iR o L N ARy 2 8 D35 2 (3 47)

2/ NEEEE Ry TR NERFORERIRERE > DUEE TR 7 RAVEEENETE o NIRRT 2R N

HGZE  5—R&G 270 > FoREEREGRT—RAYRIE - BESE 7 Rk -

LTE HRGE3IB T FET K-

(1) SRR —(E 5 ZE S BN B R = 2 (4 73) (R IR 5 ZE A2 86)
%b

(2) hET R RI(E G R EEE e =2/ 0ot 7 (2 97)

<< <LBHRBPEL>>>



B> HKFsa"E R R II0FER S 15

DK

1 #5 &% # ¥ 1583

i

L1l

BISHEEE 4 0 409D

1

10

EIREHE 45 £ 48 47)

1) 1) 13) 1(4)
1(5) 2 3 4
5(1) 5(2) 6 7

HEECE LE6S  HE6s 125 HBEy  IRARITEBERN T

1

2




ELAS EESE B RS

1105 2R ¥15H | #% &F £ ¥1ZE8L | %%

ek - W B 5%
— EIEEEE4S £
1 2 3 4 5
B D A D B
6 7 8 9 10
B C A A C
- EREGE 445 - £ 48 93)
1(2) 1(2) 13) 1(4)
478 —1 —1300 —1470
1(5) 2 3 4
13 355 —15.5 0.0000083 —1890
5(1) 5(2) 6 7
5.38x10” 7.29x10" —7 13

[1]

RIEREGE 165 - 2R 64Y - 3£124) » AYBdeSY  IHARTRIBIEA TED)

1

2

L)/ NEAE AR 7
2x2+4x (—3) +4x (—3)
=4+ (—12) + (—12)
=—8+ (—12)
=—-20

(2)/NolEASE T ARG 7 oy
Ix ( —3) +3x2+5x2
=—3+6+10
=3+10
=13
13—(—20)=33

Pt DA/ NSRRI EE oy L/ NEERIHE 5 2 33 57

(1) T ZELE RGBSR R
222 28 24 5. 08 .07

AL -
= A

2+4+8+16+32+64+128=254

7272 357 =245 (1 4%)

FHHZE> O HE

HFiZERE (197)
(2) 254 —245=9

FREAZ 97T (2 97)

277)




